For the following reaction:
(a) rewrite the equation including the enthalpy change as a term
(b) draw a potential energy diagram

(l) C6H12O6(s) + 602(g) 6C02(g) + 6H20(1) AHO = -2802.7k]
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6C(s) t 6H2(g] t 302(9) = CanOe(s) M =7

dHuOS (s) + 6 02 (9) -2 6 Coz (q) + 6 HzO (n ﬂH# = _280217 k.J
/@(g] + ¥0, — HOg A =-285.8kJ

%() + Oy —= CO;, AH =-393.5kJ]

Rev® .
@_@ + y—> CotheQys) +\é9's( M -2

LIS :
© (Hag + 30269 — ”@#&QQ AF

Cbe
©) Glo+ Whhg — e ' "2301E5

@ +5) +© —
(ﬂ“zm + K(ﬂ t+ 3035) - G,Ppﬂ,(s) LA”‘O’"'ZTS‘l kS\J

-1 %L KD




Calculate the heat released by the burning of sulfur in oxygen given the
following steps:

25()  + 30, > 230 AH=7
Evidence:
Step 1 SGs) +  O,(@ =  80,( AH= -297k]

Step 2 250,(@ +  Oy(@ -=> 230;(20 AH=-198kJ
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